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6.1.1 Reinforcements may only be placed in an area up to the stacking limit of the area. Any 
excess reinforcements that may not be placed this turn are delayed till the next turn. 

9.5.5 Overrun  Defense Strength should be Defense Factor. Example. The Defense factor of a 
Soviet unit is 7. The German Attack total is 20. The soviet Defense total is 12. The Germans 
exceeded the Soviet Defense Factor by 8 so the unit is overrun. 

13.4 Replace “Value” with “Factor” in line 3 of paragraph 2. 

13.4 Replace “Combat Value” with “Attack Factor” in line 7 of paragraph 2. 

13.4 Replace “Combat Value” with “Defense Factor” in line 11 of paragraph 2. 

Page 16. Replace “Defense Value” with “Defense Factor” in the header at the top of the page. 

 


